1. Wenman 1940

2. Sobek Karel 1941

1. e5! 1b| 1. Da2! 1b

hrozba 2. Dd3# 1b | hrozba 2. Dg8# 1b

a) 1... Kxd5 2. De4# 1b|a)l..Sxa2?2. Jg6# 1b

b) 1...)d4 2.Je3# 1b|b)1...Sxh7 2. Vxh7# 1b

c) 1...Sd4 2.Sb3# 1b|c)l.. Jxe7 2. Dxal# 1b

3.—Wenman 1945 4. — Mcintyre Donald 1940

1. vVg4! 1b| 1. f4! 1b

tempo 1b | hrozba 2. Vg5# 0,5b

a) 1... Kcl 2. Vca# 0,75 b | a) 1... Sxd5+ 2. Dxd5# 0,7b

b) 1... Kb3 2. Dxd1# 0,75b | b) 1... Je6 2. De8# 0,7b

c) 1... Kd3 2. De4d# 0,75b | c) 1...Jg6 2. Vxh7# 0,7b

! d) 1... h6 2. Jfo# 0,7b
d) 1... S-lub 2.Db1# 0,75 b e) L... axf3 2. dot 0.7b
5. — Kovacs Florian 1947 6. - Breuer Jozef 1941

1. Db2! 1b|1.Vbl! 0,5b

tempo 0,5 b | hrozba 2. Vb3# 0,5b
a) 1...d1D(V) 2.5xd1 Va8

a) 1...d3 2. Jc5# 0,7b 3 Del# 0,8b
b) 1...Va5 2.Dxd2 (hrozi

b) 1... f3 2. Jc5# 0,7 b | 3.Db4#) 2...c5[2...b3 0,8b
3.Dxa5#] 3.Dc1#
¢) 1...Va6 2.Dd6 (hrozi

c) 1... Ke5 2. Vxe3# 0,7b 3.Dba#) 2...c5 3.Dxa6H 0,8b
d) 1...va7 2.Df7 (hrozi

d) 1... Kd3 2. Dc2# 0,7b 3.Db3#) 2...d5 3.Dxa7# 0,8b
e) 1...Va8 2.Dxe4 (hrozi

€)1.. €2 2. Dxe2# 0,75 | 3 bba) 2...c5 3.Dxas# 08b




7. - Havel Miroslav 1940

8. — Hildebrand 1950

1. Dc6! 1b 1. Vbl
: TSZ:?J i.on Sijsggh:s[J): g'g E (1.Vel? Sg5+ 2.Kxg6 Sxcl+ 1b
) L. Ixe7 2:é8D+ K);g8 ’ —+; 1.Vf3? Sg7+ 2.Kxg7 Se4+
3 Des# 0,75 b | 3.Kf6 Sxf3 —+)
b) 1... Vg1 2.Dxed+ Kh6 0.75 b 1...5g7+! 0,5b
(2...Vgb 3.Dxgb#) 3.Dh4# ’ 2.Kxg7 Sed+!
0,5b
c) 1... Vc1 2.Dxe4+ Kh6 (2...5e8+? 3.Vgb=)
0,75b
3.Dgb# 3. Kh8!! 1,5b
d) 1... Sxc6 2.gxh8D+ Kxh8 075 b 3... Sxc6 4. Se4!! 1b
3.)g6# ’ 4... Sxed= 0,5b
9. — Simentberg 1947 10. — Pimenov Oleg 2004
1. Vvd3+! 1.c7! 0,5b
0,5b
(1. Vxd1 Sf3+ -+) 1...Vcl+ 2.Kb6 Vb1+ 3.Kc6! 05b
1... Sf3+! [3.Kxa6? Vb6+ =] ’
(1...Kg4? 2.Vxd1 Sf3+ 3.Kf2 2b |3..Vcl+4.Kd7 Vd1+ 5.Kc8!
Sxd1 4.Kg2=) (5.5d5+? Vxd5+ 6.Kc6 5+ 05 b
2.Vxf3+ Kg2 3.Vf1 Jc3+ 7.Kxc5 Kb7 8.Kd6 Kc8 ’
1b
4.Kel Je4! 9.Kc6=)
5.Vh1! 1b|5...Ka7 6.5e6! 0,5b
6...vd5! 0,5b
5... Kxh1 6.Kf1= 0,5b 7 571 0,5b
a) 7...Vxa5 8.5c6! Val 9.Kd7
Vd1l+ 10.Ke7 Vel+ 11.Kf7 0,5b
Vfl+ 12.Kg7 Vgl+ 13.Kh7+—
b) 7...Vg5 8.Kd8 Vg8+ 9.5e8
Vh8 10.c8V (10.c8D? Vxe8+ 0,5b
11.Kxe8=) ;
c) 7...Vh5
8.Kd8 Vh8+ 9.5e8 Vg8
10.Kd7! [10.c8D? Vxe8+
11.Kxe8; 10.c8V? Vg5 11.Sc6 1b

Vg8+ 12.5e8 Vg5 13.Kc7
Vc5+ 14.5¢6 Vxcb+ 15.Kxc6=]
10...Vg7+ 11.Kcb+—-




